VARIIRON"

Take Control In Speed

ne 2 7 152 5k 5l 2= o

Power Transmission Technologies




How to order 3EZHU

@

@ O

Option 3EHL

@ ®

Foot Mount Cast Iron Induction Motor AN EEEY £33 584 R RS 52
Flange Mount Cast Iron Induction Motor SERERYISIHRRIESE
@) Model BIZX B3 Foot Mount Aluminum Induction Motor Al EE B =75 % RS 3
B5 Flange Mount Aluminum Induction Motor  B5 ;AR BYERARRRESE
B14 Flange Mount Aluminum Induction Motor  B14 ;ARSBIERAR RXFE =
Motor Horse Power
@ =73
©) Pole #RE]
W4T Inverter Motor #E4EFE5E
@ Suffix %55k With Brake HBZIE External Fan BIIERE
(Option L) Outdoor ENEY Special %55k
Encoder #mi%52s Smart monitoring ZEEEERIT
220/380/440V 50Hz 220/380V 50/60Hz
220/380/440V 60Hz 220/440V 50Hz
@ Voltage E&# 220/380/440V 50/60Hz 220/440V 60Hz
220/380V 50Hz 220/440V 50/60Hz
220/380V 60Hz Others EL{it

% Dimensions and specifications in the catalog are subject to change without notice. RYRRIEERTEE) - iISASBITEH

Item
IZP/Y

N O L1 WN

(o5}

Construction Drawing 1&&E

Component

EHElF

Frame B3 B3 B K &

Frame B5/B14 B5/B14 BIAEE
Wound Stator T X (R E)
Rotor With Shaft & ¥ ( 5 & )

Front Shield B

Bearings L2
Key

Back Shield %

G01 VARITRON’

3

7

Al

=

=

bES

=

Item
152X

10
11
12
13
14
15

Component Item Component
EHEH IBR FHEH
Terminal Board C let
Name Plate i3] k& 17 e.rmma oard ~omplete
With Components
Spring Washer =z B 18 Terminal Seal IP55

Washer

Cooling Fan

Fan Clamping Bushing
Oil Seal

Fan Cover
Self-Threading Screws
For Cover Fixing

A

5 19 CableGland

A 20 Terminal Box IP55(Cover)
£ 21 Mounting Studs Screws

p i 22 FlangeB5

2 = & 23 FlangeB14

Screws For Terminal Box

N i 24
= B Fixing IP55

WOE
T &
i

% F EE
HF SRR
EBEBE
ERE=
%
B5 gl &
B14 BIZ

mlg i




Cast Iron Induction Electric Motors Specifications 55 ER1&R

Item IEE Standard Specification 1ZXERES
Type of Motor f&%§ Squirrel Cage Induction Motor (SCIM) =1BfREETNAEZENE(TEFC)

Design Standard E%EHKIE HRMLIERW(IEC) - HEEREE (CNS)

IEC ~ CNS
Voltages Rated Voltage: 220V/380V/400V/440V/460V/480V or Bi-Voltage
XETEERE 200V/220V/380V/400V/440V/460V/480V S EEE
Frequency Rated Frequency: 50Hz or 60Hz
$EER RETESEER 50Hz / 60Hz
Rating Output Range EitE5E/] 2P:1/4~125HP 4P:1/4~125HP 6P:1/4 ~ 100 HP
e Time Rating Continuous rating S1, Service factor: 1.0/1.15
FEIRERE EHBEFRREE - fERRENS.F:1.0/1.15
Frame Size B58 63M ~ 250M
Degree of Protection IP54 or IP55 : Totally enclosed
ReEL Z=RASNEREL(IP 54/ IP 55)
Cooling method IC411: Self External fan, Surface cooling
BANTST =EE (1C411) BFNEHAD
Mounting Type AEEH/AEEP/AEES (IM-1001): Foot Mounting B3 7K FfiIEEZ24<
ZELN AEVH/AEVP/AEVS (IM-3011): Flange Mounting B5 EREIZ S
Voltage range EEEE)Z: Less than =10% A
Power Source Conditions Frequency range $EZR%&&): Less than £5% IR
BIR Total range: Voltage and frequency aggregate 10%, but frequency range less than £5%
RERENIR: D EmBHEEHEZHIE 10 %A, BEEREENTTE +5%UA
Location 3T Indoor EA /Outdoor ES
Ambient
Environment temperature -15°C~ 40°C
Application ERRE B
FEMA Humidity Less than 90% RH ( Non-Condensation)
RE FHERZE 95 %A T (BEREERHS)
Altitude 1Z5 Up to 1000 Meters ;BiK 1000 2R
Drive method Pulley drive, but 2 pole 30HP and above, using coupling drive
wEo Rrsimee) - {8 2 1% 30HP REAL - {ERkEsTEN
Direction of rotation &/ Bi-Direction #E#5[0
Stating Method Full Voltage direct on line or Y/ A starting
ERENS EEEZRET Y- A BEF
Frame 250: Grease lubrication, Full complement cylindrical roller bearings
Bearing Type B Frame 63~225: Non grease Iubricatiqn, Deep groove ball bearings with contact seals
HESR 250 AEHT - EEFENEVEIASUESE#E
HERBETHEDR - SEEREIURIRE R
Terminal box made of pressed steel, Rotatable in 90 degree positions
Terminal box Standard position of Terminal box is at left side viewed from on-drive end
HiR=E Hit i BB AT EMSIEIREDOSL - WHE(F 90°C heddZsE
. HEHiRRMIERAR - FERRHEERE
Construction . . S . . .
. The most 12 number of Lead terminals, Earthing Terminal is provided inside the main
i Lead terminals -
HO terminal box "
HORBRD 12 1% - FEERIEF
Insulation Insulation classE, B, F
EFiz E, B, F #Rit#Zx
Painting Color: Munsell 7.5BG 4/2
B FiiRRIE - ByREAEER - ENREREAREE/NE Munsell 7.5BG 4/2
Thread ISO-M
U EIZXIZAE R 1ISO-M A
Test procedures Actual test data per IEEE-112 method B
HEER k& IEEE- 112 755% B {EFA = RRERENAIEK
Stator: Resistance Method Class E: 75°C below (Frame: 63M~112M)
Temperature Rise Class B: 80°C below (Frame: 1325~180M), Class F: 100°C below (Frame : 180L or more)
prit = EFEERS: SPEE - EfRiBE:75C AT (B5R: 63M~112M)
B #R#E#%: 80°C AT (BU5% :132S~180M) - F #Ri@#%: 100°C AT (BU5k : 180L RREAL)
Perf;;:;ance ECX Iﬁ:?'::teersift?sg 120 % synchronous speed\of full Ioadbior 2 minutes
SR 120 % FEISWESHE 2 D8
Over Torque Characteristics 160% torque in percent of full load for 15 seconds
IBEEEEIFIE 160 % ZRTEEEIEFTIE 15 )
AEEH/AEVH: IE1
Efficiency 2R

AEEP/AEVP: IE2
AEES/AEVS: IE3

VARITRON® GO02



(0]

HP
B

1/4

1/2

VES

10

15

20

25

30

40

50

60

75

100

125

AEEH/AEVH IE1 Series Performance Data 4%it5

utput
L

kw
TR

0.18

0.37

0.75

15

22

BY/

55

7.5

11

15

18.5

22

30

37

45

55

75

920

Pole
fREY

NOOBD_NOOAANOOBRNMNOOPAANOOBRRNMNORAANOOBRRNMNOBMNOOBRRNOBDNORARNOOBDDNOOANOODDNOORANOOBDNOSAN

n

Frame
Size
BUsSE

63M
63M
71M
7™M
71M
80M
80M
80M
90L
90L
90L
100L
90L
100L
112M
112M
112M
1325
132S
132S
132M
132S
132M
160M
160M
160M
160L
160M
160L
180M
160L
180M
180L
180M
180M
180L
180L
180L
200L
200L
200L
200L
200L
200L
2255
2255
225S
250S
250S
250S
250M
250M
250M

Full
Load
RPM
3410
1700
1110
3410
1705
1120
3410
1705
1130
3420
1710
1140
3420
1710
1145
3480
1730
1150
3500
1740
1160
3510
1745
1170
3515
1755
1170
3535
1760
1170
3540
1760
1170
3540
1765
1170
3545
1770
1175
3550
1770
1175
3555
1770
1175
3560
1770
1175
3560
1770
1180
3560
1770

Current Eifi(A) Torque B35
Full Locked FullLoad Locked Brake
LOAD Rotor i Rotor Down
e EY&) F/L(KG-m) Ei& &K
0.9 6.2 0.05 240 250
1 7 0.1 240 260
1 7.5 0.16 230 260
1.6 10.8 0.11 240 250
1.9 12.8 0.2 240 260
2 13.5 0.32 240 260
3.2 22 0.2 240 250
3.1 22 043 240 250
3.5 24.5 0.64 220 250
5.7 41 043 230 250
5.7 42 0.85 230 250
6.4 45 1.28 200 250
8.3 59 0.63 200 240
8 58 1.25 210 250
9.3 65 1.86 190 230
129 89 1.03 200 245
13.5 93 2.08 200 250
144 100 3.09 190 230
19.2 130 1.53 190 240
19.6 135 3.06 200 240
20.3 142 4.6 185 235
25 176 2.08 185 235
254 178 4.19 200 240
27 190 6.24 190 235
37 255 3.03 200 240
38 261 6.09 200 240
40.2 278 9.16 190 235
49.1 340 413 200 240
50.3 360 8.3 210 245
54 365 12.43 190 235
60.8 420 5.09 200 245
63.3 450 10.24 200 230
66 440 15.3 195 235
72 480 6 200 240
75 525 12.15 200 230
78 525 183 200 230
95.2 645 8.2 200 235
98.4 690 16.5 200 225
102 675 24.75 200 230
118 790 10.15 205 230
123 870 20.35 200 220
127 845 30.5 200 230
142 990 12.3 200 225
146 1030 24.75 200 230
151 1025 373 200 225
173 1175 15.1 175 215
179 1215 30.3 200 225
188 1265 45.2 200 225
237 1610 20.5 165 225
235 1600 413 200 220
249 1686 61.7 200 220
280 1900 24.6 160 220
290 1945 49.6 200 215

Efficiency (2 (%)
100% 75% 50%
Load Load Load
wmE BHE B8

69 67.5 62.5

71 70 66

69 67.5 61
69 68 65.5
74.5 73 68.5

73 71 70

73 72 69
80.5 80 75

77.5 77 74
82 81 77
82.5 82 80
84.5 84 80
83 82 78
86.5 86 82
86 85 81
86 85 81
86 85.5 82.5
86 85 81
87 86.5 81
88 87.5 83
88 87.5 83.5
88 87 82
88.5 88 83.5
88.5 88 82.5
89 88.5 86.5
89.5 89 84.5

89 88.5 83

89 88.5 86.5

920 89.5 85

89 88.5 86.5

89.5 89 87

91 90.5 89

90.5 90 87.5
920 89.5 88

91.5 91 89

90.5 90 87.5

91 90.5 88.5

92 91.5 89.5

92 91.5 89

91.5 90 89
92.5 92 89.5

92 91.5 89

92 91.5 89.5

93 92.5 90.5

93 92,5 90.5

92.5 92 920
93.5 93 91

93 92.5 90.5

93 92.5 90.5

94 93.5 91.5

93.5 93 91

94 93.5 90.5

94 93.5 91.5

220V 60Hz
Power Factor
TIZRE (%)
100% 75% 50%
Load Load Load
e =k =k
81 72 61.5
69 63 55
66 57 45
87.5 80 71
715 65 57
68 60 47
84 79.5 71
79 72 62
72 64 54
84.5 80 71.5
83 77.5 67
72.5 65 55
85 80.5 72
84 80 69
735 66 56
88 86 80
84 81 73
79 71 61
88 86 80
85 82 735
82 79 69
89 86.5 80
87 84 77
82 79 69
89 88 82
86 83 76
82 79 69.5
89.5 88.5 83.5
86.5 83.5 76.5
81.5 77 69
90 89 84
85 82 75
82 77.5 70
920 89 84
85.5 82.5 75.5
825 78 70.5
90.5 89 84
86.5 83.5 77
83 79 71
90.5 89 84.5
86.5 83.5 77
83.5 79.5 71.5
90.5 89 85
86.5 83.5 77
84.5 82.5 74
90.5 89 85
87 84 78
84.5 82.5 74
920 87.5 84
87.5 84.5 78.5
85 83 74.5
920 87.5 84
87.5 84.5 78.5

% Test method based on CNS14400, IEC60034-2-1, I[EEE112 Method B. 5XE875:4{KiE CNS14400 - 1EC60034-2-1 » |EEE112 BIEXEBE -
% All data shown above are normal values for reference only. Eilt4FIEBIZBIESER -
# Tolerance in accordance with IEC60034-1. HFI4#58E (Tolerance) {&#& IEC60034-1 °

% All data subject to change without notice. A EBBEBEN - BASBITEAI

G03 VARITRON’



AEEP/AEVP IE2 Series performance Data #5it5
220V 60Hz
O;g%&-m R, Full  Current Eifi(A) Torque #E5E Efficiency 22 (%) P;J\%eg(c;sr
HP KW I:ﬁoé; Sizne I;;a'\;.‘i Full Locked FullLoad Locked Brake 100% 75% 50% 100% 75% 50%
P BUSR FEEE LOAD  Rotor i Rotor Down Load Load Load Load Load Load
i EfE)  F/L(KG-m) FE&) ®HKX WE 8 af &g &af af
2 63M 3400 0.9 6.2 0.05 245 265 69 68 63 77 72 63
1/4 0.18 4 63M 1700 1.0 7.0 0.1 240 260 71 70 66 69 63 55
6 71MM 1110 1.0 7.0 0.16 235 265 69 68 63 66 57 45
2 71M 3370 1.6 10.0 0.11 240 260 75 74.5 72 86 81 71
1/2 0.37 4 7MM 1705 1.8 10.0 0.21 245 270 75 74.5 72 74 66 58
6 80M 1120 1.9 9.5 0.32 235 260 74 73.5 71 68 61 48
2 80M 3370 3.0 20.5 0.21 220 270 76 75.5 73 87 82 72
1 0.75 4 80M 1710 3.0 21.5 0.43 250 290 82.5 82 80 77 74 63
6 90L 1135 35 23.0 0.64 230 260 80.5 80 77 71 63 55
2 90L 3420 5.6 40 0.43 220 270 84 83.5 81 87.5 82.5 72.5
2 1.5 4 90L 1715 5.8 41 0.85 250 280 84 83.5 81 77 74 63
6 100L 1140 6.4 45 1.28 200 250 86.5 86 83 71 63 55
2 90L 3420 7.9 55 0.63 220 270 85.5 85 82 88 83 73
3 2.2 4 100L 1720 8.0 57 1.25 240 270 87.5 87 84 80 74 63
6 112M 1145 9.2 63 1.86 195 240 87.5 87 84 74 67 57
2 112M 3450 12.8 91 1.03 220 270 87.5 87 83 88.5 83.5 73.5
5 3.7 4 112M 1725 134 90 2.08 200 260 87.5 87 83 84 81 73
6 132S 1150 14.2 92 3.09 190 245 87.5 87 83 79 71 61
2 132S 3500 19.0 125 1.53 220 270 88.5 88 84 88.5 83.5 73.5
7.5 5.5 4 132S 1740 19.4 130 3.06 195 260 89.5 89 85 85 82 74
6 132M 1155 20.0 130 4.6 185 255 89.5 89 85 81 75 63
2 132S 3500 24.9 173 2.08 220 270 89.5 89 85 88.5 83.5 73.5
10 7.5 4 132M 1745 25.2 170 4.19 190 255 89.5 89 85 86 82.5 74
6 160M 1165 27 180 6.24 180 240 89.5 89 85 79 71 64
2 160M 3520 37 245 3.05 210 275 91 90.5 88 88 87 81
15 11 4 160M 1755 38 260 6.09 210 260 91 90.5 88 83.5 79 69
6 160L 1170 40 263 9.16 180 235 90.5 90 87 80.5 77.5 65
2 160M 3530 48 325 413 210 275 91 90.5 88 89 97.5 82
20 15 4 160L 1755 50 340 8.3 20 245 91 90.5 88 95 82.5 74
6 180M 1170 51.5 360 124 185 240 90.5 920 88.5 84 80 70
2 160L 3530 60 420 5.09 210 275 91 90.5 88 89 87.5 82
25 18.5 4 180M 1760 62 445 10.24 200 240 92.5 92 89 85.5 83 74.5
6 180L 1170 64 440 15.3 180 230 92 91.5 88.5 84 80 70
2 180M 3540 74 510 6.05 200 250 91 90.5 88 89 87.5 82.5
30 22 4 180M 1765 73.8 525 12.2 200 230 92.5 92 89 86 83.5 75
6 180L 1170 76 520 18.3 180 230 92 91.5 88.5 84 80 70
2 180L 3545 95 650 8.2 200 245 92 91.5 89 89.5 88 83
40 30 4 180L 1765 97 660 16.5 200 230 93 92.5 89.5 86.5 84 75.5
6 200L 1175 100 670 24.8 180 230 93 92.5 89.5 84 80 70
2 200L 3550 117 785 10.2 190 240 92.5 92 89.5 90 89 83
50 37 4 200L 1770 120 840 204 200 230 93 92.5 89.5 86.5 84 75.5
6 200L 1175 125 845 30.5 180 220 93 92.5 89.5 84.5 80.5 70.5
2 200L 3550 141 975 12.3 180 230 93 92,5 89.5 920 89.5 83
60 45 4 200L 1770 145 990 24.8 200 230 93.7 93 920 87 85 77
6 225S 1175 148 1010 373 180 220 93.7 93 90 85 81 71
2 225S 3555 175 1170 15.1 170 220 93 92.5 89.5 920 89.5 83
75 55 4 225S 1770 178 1200 303 200 220 94.1 93 90.5 87.5 86 78
6 250S 1180 186 1190 45.2 180 220 93.8 93 90 85.5 81.5 71.5
2 250S 3560 235 1605 20.5 170 220 93.6 93 90 89.5 88 83
100 75 4 250S 1770 235 1600 413 200 220 94.5 94 91 89.5 88 83
6 250M 1180 245 1590 61.7 180 210 941 93 90.5 85 81 71
125 90 2 250M 3560 286 2050 24.6 160 210 94.5 94 91 89.5 88 83
4 250M 1770 291 2000 49.6 200 220 94.5 94 91 89 87 81

% Test method based on CNS14400, IEC60034-2-1, IEEE112 Method B. iEE75:AK#E CNS14400 - 1EC60034-2-1 - IEEE112 BIEHA B & -
% All data shown above are normal values for reference only. EiifFHRIZIEESER -

% Tolerance in accordance with IEC60034-1. 4514#5E (Tolerance) {&i% IEC60034-1 ©

% All data subject to change without notice. M FEMEEBER - BARSBTEA o

VARITRON® G04



AEES/AEVS IE3 Series performance Data 451t

F-Insulation F #&#&#%, Service Factor {EF3{%REL 1.15, 220V / 380V 60 Hz

O;E%E:t Full Current Eifi(A) Torque #5E Efficiency %428 (%) Pl%geé]g(c%r
Pole Fr?me Load Full  Full Locked
Size Full Load Locked Brake 100% 75% 50% 100% 75% 50%
iy kw 1R BgR RPM~ L o fheie jm=l  Rotor Down Load Load Load Load Load Load
5N TR ¢ REIEE wmE  mE BE —
220V 380V 220V F/LKG-m) Ef& ®|X wmE B&E BF #E B8BFH B
2 80M 3470 298 1.72 21 0.21 280 300 77 75 74 854 81 69
1 0.75 4 80M 1730 323 1.86 21 0.43 320 340 85.5 84.5 82 71 62 48
6 90L 1145 348 2.01 17 0.65 270 300 82.5 81 79 68.2 62 49
2 90L 3460 5.20 3.01 40 0.43 330 350 85.5 86 85.5 88 85.5 78
2 1.5 4 90L 1725 6.04 3.49 41 0.86 320 340 86.5 86.9 85 75 69.8 58
6 100L 1130 590 341 44 1.32 300 330 88.5 88.9 87 75 69.5 60
2 90L 3470 7.85 454 55 0.64 320 350 86.5 86.7 85 86.5 84 72
3 2.2 4 100L 1740 8.10 4.68 56 1.29 300 320 89.5 89.7 88 81 76 63
6 112M 1165 9.4 54 62 1.92 290 310 89.5 89.8 87.5 70.1 61 49
2 112M 3520 124 7.2 93 1.06 330 350 88.5 88.7 86.5 89 84 77.5
5 3.7 4 112M 1760 13.2 7.6 92 2.12 310 330 89.5 89.8 86 83.0 80 75
6 132S 1170 14.3 8.3 100 3.19 200 300 89.5 89.7 87 76.5 70.6 58
2 132S 3520 187 108 136 1.59 260 290 89.5 89.8 86 87.5 84.5 81
7.5 5.5 4 132S 1760 198 114 137 3.18 270 300 91.7 91.9 89.5 81 74 66.5
6 132M 1165 208 120 145 4.80 240 280 91 91.2 90 77.5 72 60
2 132S 3515 249 144 173 2.12 250 280 90.2 904 90 87 85 81
10 7.5 4 132M 1770 26.2 15.1 175 4.21 280 300 91.7 91.9 91 81.6 79 72
6 160M 1165 272 157 180 6.40 210 240 91 91.3 89.5 79 75 68
2 160M 3535 355 205 250 3.17 270 300 91 91.5 89 91 89 84
15 11 4 160M 1770 380 220 260 6.32 240 270 924 92.7 90 83.6 80 744
6 160L 1170 40,5 234 270 9.56 200 210 91.7 91.9 87 79 76 62
2 160M 3530 483 279 327 4.23 240 260 91 91.2 90 89 87 84
20 15 4 160L 1765 50.7 293 350 8.45 220 250 93 93.2 92 83 78 70.5
6 180M 1170 534 309 365 12.75 230 260 91.7 92 90 80 76 64.8
2 160L 3550 596 345 415 5.25 230 260 91.7 92.1 90.5 89.5 86 81
25 18.5 4  180M 1775 626 36.2 430 10.51 220 250 93.6 93.8 92.5 83.5 80 77.5
6 180L 1180 65.0 376 445 15.81 200 230 93 93.2 92.7 81 75 68
2 180M 3540 724 418 490 6.32 200 230 91.7 91.9 90.5 88.5 87 84.5
30 22 4 180M 1770 76.1 440 510 12.64 210 240 93.6 91 90 82.5 80 74.6
6 180L 1175 770 445 520 19.05 240 270 93 934 92 82 75 66
2 180L 3540 952 550 650 8.43 250 280 924 929 91 89 88 85
40 30 4 180L 1770 102.7 594 670 16.86 220 250 94.1 93.7 92 81 78 70
6  200L 1185 100 58 690 25.18 250 270 94.1 93.6 925 83.5 78 75
2 200L 3550 119 69 800 10.51 200 230 93 93.2 92 88.5 86 80
50 37 4  200L 1770 124 72 850 21.07 220 250 94.5 94.8 93 83.5 81 71
6  200L 1185 127 73 870 31.48 270 300 94.1 94.5 92.5 82 77 65
2 200L 3550 140 81 1015 12.61 180 230 93.6 94 93 89.5 87 84
60 45 4 200L 1775 147 85 1020 25.22 250 280 95 95.2 94 84 81 70
6 2255 1185 148 86 1020 37.77 250 280 94.5 95 935 83.8 80 76
2 2255 3575 174 101 1205 15.65 180 220 93.6 93.8 925 920 88 84
75 55 4 2258 1790 180 104 1210 31.26 250 280 954 95.6 93 854 80.5 78
6  250S 1185 188 109 1220 47.22 210 240 94.5 95.1 92.8 82.4 79.5 71
2 250S 3575 230 133 1550 20.87 170 200 94.1 94.2 93 90.5 89 85
100 75 4 250S 1780 235 136 1550 41.91 240 270 954 94.8 93.5 87.5 85 78
6 250M 1185 248 143 1560 62.95 200 230 95 95.2 91 83.0 79.5 76
2 250M 3580 288 166 1900 26.05 160 220 95 94 92 89.5 86 81
125 %0 4 250M 1780 293 169 1910 52.39 200 220 954 95.6 935 87.5 86 78

# Test method based on CNS14400, IEC60034-2-1, |[EEE112 Method B. EX5875:5{KiE CNS14400 - 1EC60034-2-1 - |EEE112 BIEH/E B & ©
% All data shown above are normal values for reference only. EiifFHRIZERESER -

% Tolerance in accordance with IEC60034-1. 4514#5E (Tolerance) {&i% IEC60034-1 °

% All data subject to change without notice. M EEEEBER - ZASBTEA o

GO5 VARITRON’



Output(HP)
fwsyA]

Frame
Size

BiS® 2P 4P

63M 1/4 1/4
7iM 12 12
8M 1 1

23 2

100 - 3

1m1Mm 5 5

7510 75
32M - 10
1520 15
25 20
30 -

180M -
40 -
180L -
5060 -
200L -
75 -
225 - 75
100 -
2508 -
125 -
250M -

2530

6P

60

100 75

Mounted Size
ZERY H
A B C K
100 80 40 7
11290 45 7
125100 50 10
140 125 56 10
160 140 63 12
190 140 70 12
216 140 89 12 132 310
216178 89 12 132 310
254 210 108 145 160 378
254 254 108 145 160 378
279 241 121 145 180 433
279 241 121 145 180 433
279 279 121 145 180 433

HD

132
152
168
0 19
100 245
112 265

63
Al
80

40 2530 279 279 121 145 180 433

318 305 133 185 200 470

50,60 40,50 318 305 133 185 200 470

356 286 149 185 225 525
356 286 149 185 225 525
406 311 168 24 250 576
406 311 168 24 250 576
406 349168 24 250 576

125 100 406349168 24 250 576

HF AE AB BB KK HA AAAC L AD

27 875120100 22 8 28 140 20 115

52
55
65
7

83
20
20
115
115
125
125
125
125

1205 293
1205 293

132
132
149
149
149
149

9% 140 115 22
107 155130 22
120 170 150 22
142 195175 28
149 24175 28
1765 250 175 35
1765 250 212 35
215 300 250 35
215 300 300 35
253 355297 52
253 355297 52
253 355335 52
253 355335 52
400 365 92
400 365 92
450 350 92
450 350 92
500 425 92
500 425 92
500 480 92
500 480 92

307
307
360
360
360
360

8 355160 2505 126
9 355175 282 140
10 355200 337 153
125 45 224 3775 175
14 45 238 391 18
16 45 273
45 273
50 342
50 342
75 391
75 391
75 391
75 391
430
430
468
468 816
36 100 515 8905 446
36 100 515 9205 446
36 100 515 9475 446
36 100 515 9775 446

¥

g 8dd88gBeR
BEBEBEEE 88

% All data subject to change without notice. A ERNBEEFERE - DARBITEAI ©
% Tolerance of dimensions “H” : +0,-0.5. FINVS"H’"RYHIAZ : +0,-0.5 °
# Tolerance of dimensions “D”: Frame NO. 63M~112M for j6 ; Frame No. 1325~180M for k6 ; Frame No. 180L~200L for mé6.

T D'RYAE : BSR 63M~112M 73 j6 ; BUSR 1325~180M 73 k6 ; BU5R 180L~200L %% m6 °

454 2155 M1225 80
492 2155 M1225 80

Output Shaft /7%

DH-M

El [ED)
M8
M5x10
Méx12 40
M8x16 50
M10x20 60
M10x20 60

3
30

18
24
25
32
40
40
65
65
M16x36 110 80

254 M16x36 110 80

M1632 110 80
M1632 110 80
M20x40 110 80
M20x40 110 80
M20x40 110 80
M20x40 140 110
M20x40 110 80
M20x40 140 110
M20x40 110 80
M20x40 140 110
M20x40 110 80
M20x40 140 110

D

n
14
19
24

2
2

55
55
55

55

55
75
55
75

F GA G LS.

125 85
160 110

4 6201z
5

6 215 155

8

8

62022z
6204z
62052z
6206z
63062z
6308z
63082z
6309z
63092z

270 200

310 240
8 310 240
10 410 330
10 410 330
12 450 370
12 450 370

14 515 425 6311zC3 6310zzC3

14 515 425 6311z

16 590 490 6312zzC3 6310zzC3

16 590 490 6312zz

16 590 490 6312zzC3 6212zzC3

18 640 530 6314z

16 590 490 6312zzC3 6212z2C3

18 690 580 6315z
16 590 490 6313C3
20 795 6/5 NU316
16 590 490 6313C33
20 795 675 NU316

VARItRON® G06

[=];

.
gear.fyi/aee

Bearing &

0s. (kg)

62012z
62022z
6204zz
62042z
6205z
63062z
6306z
63062z
6307z
6307z

85
12
14

245
31
VY]
67
78

122

144

185

182

213

215

282

315

388

390

551

574

600

612

63102z

63102z

62122z

6213z

63133
6313

63133
6313



IIII

_ _»,

1_
1§81
m o/
3 sus_op
RN
i 1
S hE
ap
gear.fyi/aev.
Frame Output(HP)H7] Output Shaft H7J8H
Size L M N P S T AC AE AD HB KK LA DH-M
y 2P 4P 6P E ED D F GA G
il
63M 174 1/4 - 220 130 110 160 10 3 1425 875 115 - 22 12 M4x8 23 18 11 4 125 85
71M 12 1/2 1/4 2775 130 110 160 10 3.5 1615 98 126 - 22 12 M5x10 30 24 14 5 160 11
80M 1 1 1/2 282 165 130 200 12 3.5 1765 107 140 - 22 12 Méx12 40 25 19 6 215 155
90L 2,3 2 1 376 165 130 200 12 35 19%5 120 153 - 22 11 M8xl6 50 32 24 8 270 20
100L - 3 3775 215 180 250 145 224 142 175 290 28 16 MI10x20 60 40 28 8 310 24
112M 5 5 238 149 182 305 28 16 MI10x20 60 40 28 8 310 24

2

3 431 215 180 250 145
132S 75,10 75 5 454 265 230 300 145
132M = 10 75 492 265 230 300 145
160M 1520 15 10 608 300 250 350 185
160L 25 20 15 652 300 250
180M 30 - - 672 350 300
180M - 2530 20 672 350 300 400 185
180L 40 - - 710 350 300
180L = 40 25,30 710 350 300 400 185
200L 50,60 - - 783 400 350 450 185
200L - 50,60 40,50 813 400 350 450 185
225S 75 - - 78 500 450 550 185
225S = 75 60 816 500 450 550 185
250S 100 - - 8905 500 450 550 185
250S = 100 75 9205 500 450 550 185
250M 125 - - 9475 500 450 550 185
250M = 125 100 9775 500 450 550 185

273 1765 2155 356 35 20 Mi12x25 80 65 38 10 410 33
273 1765 2155 356 35 20 Mi12x25 80 65 38 10 410 33
334 215 254 435 35 20 Mi6x36 110 80 42 12 450 37
334 215 254 436 35 20 Mi16x36 110 80 42 12 450 37
381 253 300 501 52 20 M16x32 110 80 48 14 515 425
381 253 300 501 52 20 Mi16x32 110 80 48 14 515 425
381 253 300 501 52 20 M20x40 110 80 55 16 590 49
381 253 300 501 52 20 M20x40 110 80 55 16 590 49
419 293 365 539 92 20 M20x40 110 80 55 16 590 49
419 293 365 539 92 20 M20x40 140 110 60 18 640 53
449 307 385 591 92 22 M20x40 110 80 55 16 590 49
449 307 385 591 92 22 M20x40 140 110 65 18 690 58
498 360 446 690 92 22 M20x40 110 80 55 16 590 49
498 360 446 690 92 22 M20x40 140 110 75 20 795 675

446

446

58
&

498 360 690 92 22 M20x40 110 80 55 16 590 49
498 360 690 92 22 M20x40 140 110 75 20 795 675

—_
[or]
U
v L1 L1 L1 L1 L1 LT L1 L1 LT LT L LT LBTE R R DR D

% All data subject to change without notice. A EREEBEE - BASBITEA o
#ONT RE hT e

G07 VARITRON’



Aluminum Induction Electric Motors Specifications $8& & 48 55E

50Hz
Output Rated Current &Eifit(A) Starting  Torque #%E
HE Frame Full Current Power .
HP kW ?P@ogz oize Iﬁ%ﬁ 2l LFc:;IL Ledlcienele] bt Dﬁazcéﬂ W(eklgg;)ht
=57 TR B5R s 20V 380V 660V 230V 400V 690V 240V 415V 720V Iaa} =g RotOr D;)wn (%) Cos & (%)
s/IN BE &®|X
(Nm)
2 56B 2780 0.70 0.41 0.23 0.67 0.39 0.22 0.65 0.37 0.22 6.00 0.41 230 240 63.0 0.71 3.40
4 56B 1380 0.77 0.44 0.26 0.73 0.42 0.24 0.70 0.41 0.23 450 0.83 230 240 57.0 0.72 4.00
R 6 63C 830 0.96 0.55 0.32 0.92 0.53 0.31 0.88 0.51 0.29 350 138 220 240 53.0 0.62 5.00
8 71B 690 1.05 0.61 0.35 1.00 0.58 0.33 0.96 0.55 032 350 166 190 210 51.0 0.59 6.50
2 63C 2715 1.19 0.69 0.40 1.14 0.66 0.38 1.09 0.63 0.36 5.00 0.88 3.20 3.30 68.0 0.81 4.50
4 63C 1350 1.36 0.79 0.45 1.30 0.75 0.43 1.25 0.72 042 450 1.77 220 240 65.0 0.74 5.55
N 6 71B 900 1.64 0.95 0.55 1.56 0.90 0.52 1.50 0.87 0.50 3.50 2.65 230 250 59.0 0.68 6.30
8 80B 680 1.99 1.15 0.66 1.91 1.10 0.64 1.83 1.06 0.61 3.30 3.51 1.80 2.00 54.0 0.61 11.0
2 71A 2690 1.71 0.99 0.57 1.64 0.94 0.55 1.57 0.91 0.52 5.00 131 280 3.00 70.0 0.81 6.00
4 71B 1375 1.93 1.12 0.64 1.85 1.06 0.62 1.77 1.02 0.59 4.50 2.57 240 280 67.0 0.75 6.40
12 0.37 6 80A 915 2.24 1.30 0.75 2.14 1.23 0.71 2.05 1.19 0.68 4.00 3.86 220 240 62.0 0.70 8.90
8 90S 680 2.57 1.49 0.86 2.46 1.41 0.82 2.35 1.36 0.78 4.00 5.20 190 200 62.0 0.61 14.0
2 71B 2715 241 1.40 0.80 2.31 1.33 0.77 2.21 1.28 0.74 5.00 193 330 3,50 73.0 0.82 6.50
34 055 4 71B 1370 2.71 1.57 0.90 2.59 1.49 0.86 2.48 1.44 0.83 5.00 3.83 240 260 71.0 0.75 9.00
6 80B 920 3.08 1.79 1.03 2.95 1.70 0.98 2.83 1.63 0.94 4.00 5.71 220 240 65.0 0.72 9.30
8 90L 700 3.76 2.17 1.25 3.59 2.07 1.20 344 1.99 1.15 4.00 750 190 210 63.0 0.61 17.0
2 80A 2730 3.291.90 1.10 3.15 1.81 1.05 3.01 1.74 1.00 7.00 262 280 3.80 72.1 0.83 9.30
4 80B 1380 3.59 2.08 1.20 3.44 198 1.153.29 190 1.10 5.00 5.19 240 260 72.1 0.76 10.5
! 0.75 6 90S 930 3.91 2.26 1.30 3.74 2.15 1.25 3.58 2.07 1.19 450 7.70 220 250 70.0 0.72 12.0
8 100L 700 4.14 2.40 1.38 3.96 2.28 1.32 379 2.19 1.26 4.00 102 190 210 71.0 0.67 19.0
2 80B 2746 4.58 2.65 1.53 4.38 2.52 1.46 4.20 243 140 7.00 3.83 280 3.50 75.0 0.84 10.0
15 11 4 80B 1380 5.00 2.89 1.67 4.78 2.75 1.59 4.58 2.65 1.53 5.00 7.61 240 260 75.0 0.77 11.5
6 90L 930 5.423.141.815.19298 1.73 497 288 1.66 450 113 220 250 729 0.73 16.0
8 100L 710 5.73 3.32 191 548 3.15 1.83 5.253.04 1.75 5.00 148 190 2.110 73.0 0.69 20.0
2 90S 2715 6.07 3.51 2.02 5.81 3.34 1.94 556 3.22 1.85 7.50 528 240 280 77.2 0.84 14.0
4 90L 1400 6.45 3.74 2.15 6.17 3.55 2.06 592 342 1.97 6.00 102 220 240 77.2 0.79 16.0
2 15 6 100L 945 6.98 4.04 2.33 6.68 3.84 2.23 6.40 3.70 2.13 6.00 152 220 280 752 0.75 20.0
8 112M 710 7.61 440 2.54 7.28 4.18 243 6.97 4.03 232 5.00 202 190 210 75.0 0.69 27.0
2 90L 2772 852 4.93 2.84 8.15 4.69 2.72 7.81 452 260 750 758 250 280 79.7 0.85 16.0
3 22 4 100L 1430 8.94 5.18 2.98 8.55 4.92 2.85 8.20 4.74 273 7.00 147 220 230 79.7 0.81 20.0
6 112M 945 9.78 5.66 3.26 9.35 5.38 3.12 8.96 5.18 299 6.00 222 220 250 777 0.76 26.5
8 1325 720 10.4 6.04 3.48 9.97 5.73 3.32 9.56 5.53 3.19 6.00 29.2 2.00 2.10 78.0 0.71 36.0
2 100L 2870 11.1 6.43 3.71 10.6 6.11 3.54 10.1 589 339 730 100 260 320 815 0.87 21.0
4 100L 1430 11.8 6.823.93 11.2 648 3.76 10.8 6.25 3.60 7.00 20.0 220 230 815 0.82 24.0
4 3 6 1325 960 13.07.524.331247.1541411.96.89397 650 298 200 230 797 0.76 34.0
8 132M 720 13.7 7.90 455 13.0 7.51 435 125 7.24 417 6.00 398 200 210 79.0 0.73 43.0
2 112M 2890 14.4 831 4.78 13.7 7.90 458 13.1 7.61 439 7.00 13.2 250 270 83.1 0.88 27.0
55 4 4 112M 1430 15.48.92 5.14 14.7 8.47 491 14.1 8.17 471 7.00 26.7 240 3.00 83.1 0.82 30.5
’ 6 132M 960 17.0 9.82 5.66 16.2 9.33 5.41 15.59.00 5.18 6.50 39.8 2.00 230 814 0.76 46.5
8 160M 720 17.8 10.2 5.92 16.9 9.76 5.66 16.2 9.42 542 6.00 53.1 2.00 2.10 81.0 0.73 61.0
2 132S 2910 194 11.2 645 185106 6.17 17.7 17.7 10.2 7.50 18.0 250 270 84.7 0.88 39.0
4 1325 1440 20.511.8 6.84 19.6 11.2 6.55 18.8 10.8 6.25 7.50 36.5 2.80 3.20 84.7 0.83 44.0
73 > 6 132M 960 226 13.07.52 215124 7.19 206 11.96.89 6.50 547 200 230 83.1 0.77 54.0
8 160M 720 23.513.67.83 224129 749255124718 6.00 73.0 200 210 83.0 0.74 80.0
2 1325 2900 26.0 15.0 8.67 24.8 14.3 8.29 23.8 13.7795 750 247 250 270 86.0 0.88 44.0
10 75 4  132M 1450 27.2 15.7 9.08 26.0 14.9 8.69 24.9 144 833 7.50 494 280 3.20 86.0 0.84 54.5
6 160M 970 30.2 174 10.0 28.8 16.6 9.62 27.6 16.0 9.22 6.50 73.8 230 260 84.7 0.77 80.0
8 160L 720 30.7 17.7 10.2 29.3 16.8 9.79 28.1 16.2 938 6.00 995 2.00 2.10 85.5 0.75 102
2 160M 2950 37.021.4123 354203 118339196113 780 356 270 3.00 876 0.98 86.0
15 11 4 160M 1460 39.2 22.7 13.0 37.5 215 125359208 119 750 720 240 350 87.6 0.84 89.0
6 160L 970 42.8 24.8 14.2 40.9 23.5 13.6 39.2 22.7 13.0 6.50 1083 230 260 864 0.78 103
20 15 2 160M 2970 49.9 28.8 16.6 47.7 27.4 159 45.7 26.4 152 7.80 482 270 3.00 88.7 0.89 87.0

n

160L 1460 52.2 30.2 17.4 499 28.7 16.6 47.8 27.6 159 750 98.1 240 350 887 0.85 108

% |E2, IE3 high efficiency motor series available, contact Varitron® or your sales personal. 05 IE2 ~ IE3 SWMERIBE - B EHEEE -
VARITRON® G038



LB AC
[t 3]
w fﬁ
—Zh o o
| ' cApD R Y
o (=]
- GA B3 I
|
@:fq\:;mlﬁ

Fra'lme Output (HF) Foot Stock BIEE B3 Output Shaft 778
Size H7 AC AD L LB KK
BEg  op 4p 6P 8P A B C K H HD D@ E F GA
56 1/8 1/8 - - 108 100 195 175 MI6x1.5 90 71 36 7 56 156 9M4 20 3 102
63 1/4 1/4 1/8 - 125 109 213 190 M16x1.5 100 80 40 7 63 172 11M4 23 4 125
71 1/23/4 112 1/4 1/8 132 117 255 225 M16x1.5 112 90 45 7 71 188 14M5 30 5 16
80 1,15 3/41,15 1/23/4 1/4 158 135 285 245 M20x1.5 125 100 50 10 80 215 19M6 40 6 215
90S 2 - 1 1/2 175 145 304 254 M20x1.5 140 100 56 10 90 235 24M8 50 8 27
90L 3 2 15 3/4 175 145 329 279 M20x1.5 140 125 56 10 90 235 24M8 50 8 27
100 4 34 2 1,15 200 155 372 312 M25x1.5 160 140 63 12 100 255 28M10 60 8 31
112 55 5.5 3 2 220 172 394 334 M25x1.5 190 140 70 12 112 284 28M10 60 8 31
1328 75 7.5 4 3260 192 462 382 M25x1.5 216 140 89 12 132 324 38M12 80 10 41
132M 10 10 5575 4 260 192 500 420 M25x1.5 216 178 89 12 132 324 38M12 80 10 41
160M 1520 15 10 5575 316 246 617 507 M32x1.5 254 210 108 15 160 406 42M16 110 12 45
160L - 20 15 10 316 246 661 551 M32x1.5 254 254 108 15 160 406 42M16 110 12 45

G09 VARITRON’



b ] =
.E
i —WF_
T ]
ol = L —— (=] . B
{ | cAD R Y
1 B5 E
LA bS53 E
gear.fyi/-mbS
Frame Output (HP)
) Flange ;AR@ B5 Output Shaft H 7J%H#
Size 57 AC AD L LB KK 9¢ P
HESR 2P 4p 6P 8P M Nj6 P LA S@ T D(®) E F GA
56 1/8 1/8 - - 108 100 195 175 M16x1.5 100 80 120 10 7 3 9 M4 20 3 10.2
63 1/4 1/4 1/8 = 125 109 213 190 M16x1.5 115 95 140 10 9 3 11 M4 23 4 12.5
71 1/2,3/4 1/2 1/4 1/8 132 117 255 225 M16x1.5 130 110 160 10 10 35 14M5 30 5 16
80 1,1.5 3/4,1,1.5 1/2,3/4 1/4 158 135 285 245 M20x1.5 165 130 200 13 12 35 19Mé6 40 6 21.5
90sS 2 - 1 1/2 175 145 304 254 M20x1.5 165 130 200 13 12 35 24M8 50 8 27
9oL 3 2 1.5 3/4 175 145 329 279 M20x1.5 165 130 200 13 12 35 24M8 50 8 27
100 4 3,4 2 1,1.5 200 155 372 312 M25x1.5 215 180 250 15 145 4 28 M10 60 8 31
112 5.5 5.5 3 2 220 172 394 334 M25x1.5 215 180 250 15 14.5 4 28M10 60 8 31
132S 7.5 7.5 4 3 260 192 462 382 M25x1.5 265 230 300 15 145 4 38M12 80 10 41
132M 10 10 5.5,75 4 260 192 500 420 M25x1.5 265 230 300 15 145 4 38M12 80 10 41
160M 15,20 15 10 55,75 316 246 617 507 M32x1.5 300 250 350 20 185 5 42M16 110 12 45
160L = 20 15 10 316 246 661 551 M32x1.5 300 250 350 20 185 5 42 M16 110 12 45
- L L |
I LB
1
; | .‘_g=:$'$:=
| i | | |
al 2| . fa: {_— o
| ! ' T
| | U
o BA |
o e & & B14
gea:.fyi/-mb4
Fi Output (HP) .
ra}me e Flange 3:E8 B14 Output Shaft HH7J&H
Size 557 AC AD L LB KK
HESR 2P 4P 6P 8P M Nj6 P S©) T D(@) E F GA
56 1/8 1/8 - - 108 100 195 175 M16x1.5 65 50 80 M5 25 9 M4 20 3 10.2
63 1/4 1/4 1/8 = 125 109 213 190 M16x1.5 75 60 90 M5 25 11 M4 23 4 12.5
71 1/2,3/4 1/2 1/4 1/8 132 117 255 225 M16x1.5 85 70 105 M6 25 14 M5 30 5 16
80 1,1.5 3/41,1.5 1/2,3/4 1/4 158 135 285 245 M20x1.5 100 80 120 Mé 3 19 M6 40 6 215
90S 2 - 1 1/2 175 145 304 254 M20x1.5 115 95 140 M8 3 24 M8 50 8 27
90L 3 2 1.5 3/4 175 145 329 279 M20x1.5 115 95 140 M8 3 24 M8 50 8 27
100 4 3,4 2 1,1.5 200 155 372 312 M25x1.5 130 110 160 M8 3.5 28 M10 60 8 31
112 55 55 3 2 220 172 394 334 M25x1.5 130 110 160 M8 35 28 M10 60 8 31
132S 7.5 7.5 4 3 260 192 462 382 M25x1.5 165 130 200 M10 35 38 M12 80 10 41
132M 10 10 5.5,75 4 260 192 500 420 M25x1.5 165 130 200 M10 3.5 38 M12 80 10 41
160M 15,20 15 10 55,75 316 246 617 507 M32x1.5 215 180 250 M12 4 42 M16 110 12 45
160L - 20 15 10 316 246 661 551 M32x1.5 215 180 250 M12 4 42M16 110 12 45

VARITRON® G10



POWER TRANSMISSION

INDEX

Page
H VM VX A01~A82
Cycloidal Drive
Reducer
EREINCIN
i Pg.A55 Pg.A61 Pg.A64 Pg.A72
Page
A83~A84
RV Precision
Cycloidal Gear
e B AR EOERE
Page
DGT B01~B39
Precision Planetary
Gearbox
TRB1TERRE Pg.B10
DN
L=
Pg.B22 *
RAH-F
Pg.B34
Page

VF HS

Planetary Gear

Reducer
355 22 TR M

Vs B40~B51
Pg.BW‘

#All dimensions in the catalog are in mm units. BEfAR Y REMIRmm o

Pg.B48 Pg.B49




VARITRON"

Take Control In Speed

Page
GHM . GHD < GVM Yo S (01~C10
Compact Helical Gear \ ‘ ‘
Motor Reducers
FU g i S s
B ERR Pg.C06 Pg.C07 Pg.CO8 Pg.C09 Pg.C10
Page
C2 AM ADH AMV _ ADV C11~C16
Helical Gear Motor -
Reducers
ERERIBR I Pg. Pg.C15 Pg.C16
Page
K-AM KAB-AM KA-AM KAF-AM KF-AM C18~C21

SEW Type
Gear Reducer

BRR e EmiBLE

Pg.C18 I' Pg.C18 l'

@

SY S-AM SA-AM SAF-AM SF-AM S-AD
Pg.C19 . Pg.C19 . Pg.C19 Pg.C19 Pg.C19 Pg.C19
R-Y R-AM RF-AM R-AD ¢ RF-AD

«

Pg.C20 Pg.C20
F-Y FA-AM FAF-AM F-AD
Pg. l Pg.C21 Pg.C21 Pg.C21
Page
(22~C23

Industrial Helical

Bevel Gearbox

’r

ERIRTE

&

#All dimensions in the catalog are in mm units. BifIR Y REMAmm ©



POWER TRANSMISSION

INDEX

NHV

NMHV Hypoid-Helical
Gear Reducer

B[R he EaEmiBE

Pg.D09

NMRV-NMRV

NMRV Worm
Gear Reducer

EAEILGEYERE

. HMW
Worm Gear 1
Speed Reducer | _ g
LY EPE Z = Pg.D34

Low

Pg.D Pg.D39

g

umMmw W ! ™W

Pg.D44 Pg.D45

VOFM LH i LHM

Cl

Pg.D47 Pg.D48

'

Pg.D50 Pg.D51

VHM

Page

D01~D09

Page

D10~D25

NRV-NMRV PC-NMRV

Pg.D22

2

Pg.D36

HOW

VOM uw

= 10 A .

Pg.DA1 Pg.D42 Pg.D43

TOW H TOM . VOF
" Pg.D46 Pg.D46 Pg.D47
LOH LOHM |I VH
Pg.D49 Pg.D49 D50

VOH VOHM
Y G
Pg.D52 Pg.D52

# All dimensions in the catalog are in mm units. BEfIR Y REAIAmm -



VARITRON"

Take Control In Speed

Page

AHM E01~E08

AV

Disco Speed
VELEL)

VRN

Pg.E07 Pg.E07

E2 APH HV E09~E10
Belt Stepless Variable
Speed Drive

Pg.E09
Page
E3 LM E4 PIV-H AT E12~E14
Five Steps Buffered PIV Chain Variable
Speed Changer Speed Drive
1 gm  — uggs ST (ST EDVAEA
TR E TR Pg.ET1 BRI EY R Pg.E13
Page
F01~FO03
Spiral Bevel
Gear Box
TFIEO®
Page
F05~F07
Spiral Screw
Rod Actuators
AR R A
G AEEH/AEEP/AEES ~ AEVH/AEVP/AEVS AEEH-ALB3 AEVH-ALBS AEVH-ALB14 G01~G10
3
Motor
EX 3
RIBSE Pg.G07 Pg.G09 Pg.G10
Page
H HHM Lcv GW Cs/CSS HMB SC/SCB H01~H10
Agitator [
ixer '
;a VALY =3 | &4
R Pg.HO5 Pg.HO6 Pg.HO7 Pg.HO8 % Pg.HO9 Pg.H10

#All dimensions in the catalog are in mm units. BifIR Y REIAmm ©



VARITRON® Total Solution for Transmission Units

E O UHIREEDE AR TS

Field and Maintenance Services
RIS EEARTS

Installation IRiFZEE

Commissioning IR E

Inspection &

Preventive Maintenance FaF5IEHU#E
Corrective Maintenance &SIt E
Special investigation $§BI58 &

VARIIRON’

SERVICES AR5

Repair Services Diagnostic Services

HEIZAR TS SZERARFS
@ Repair analysis Online diagnostic Services
IO FEARBOBNARTS
@ Standard repair Remote Diagnostic Services(iVaritron)
i3 SR i g
General overhaul Artificial intelligence equipment monitoring
g and management system(iVaritron)

AT EERREREERR

Training Services

HEAIR

Support and Consulting Services
ZEBMEBARTS
Technical support 17571 @

Spare Parts Services

EHRIHFARTS

@ Asset optimization services
mmELES

@ Spare parts and repair packages
EHEHEEE

Spare parts on demand

FHRNERTER

Retrofit and Modernization Services
SGEM BT ARTS

® Modification of parameters

BB EFRE

@ One-to-one replacement of a state-of-the
art product

PETEER

® Replacement of a legacy product with a
state-of the-art product

NIREERT




MADE IN TAIWAN

Service perfection, Quality superiority, Research and Development are the core enterprise spirits of
VARITRON since 1971. Responding to both domestic customers and international market demands,
we never stop to make innovation for gearbox function, efficiency and quality improvement,
accompany with accurate and in-time after service. To improve quality control, VARITRON has been
certified with ISO9001 since 2008.

Varitron wide power transmission product line including Cycloidal Drive, Precision Planetary
Gearbox, Helical Gearmotor, Planetary Gear Reducers, Worm Gearbox, Variator and Induction Motor
provides different industries sectors including CNC Machineries, Semi-conductor, Chemical, Steel
Industries, Factory facilities, Automation Machineries, robo-tic arm With Varitron strong mechanical
engineering team, Varitron provides customizes transmission gearbox and many newly innovated
pattern products.

Service

Towards Varitron’s Half-century, we serve more than 40 countries. VARITRON has more than 10
service points in cooperation with regional agents globally to timely assist our customers not only for
hardware, like parts and maintenance, but also for software, like design consultant

Quality

Quality Perfection is Varitron’s core value, new machinery and quality check equipment is deploy in
the manufacturing. Minimum 30 quality check point is done from raw material to final gearbox.
In-house testing laboratory, 1ISO9001 and ISO14001 quality control system to ensure every gearbox
meets perfection.

Innovation

Our specialized R&D teams constantly developing new gearbox, gear motor and motors for
effectively fabricating transmission products, and working to improve machine quality. VARITRON
never stops doing market surveys and attending international exhibitions. With decades of knowledge
accumulated about market information and changes in machineries trends, we can provide the most
valuable information to our clients and assist our clients in industrial upgrading.



VARITRON’

Take Control In Speed

"B, TREL -~ "I, BPEEERTEROGERARB1IMERILUK-—ERE
A ORETE o BEEER ST LR TIEEK - BFITEERE RAERBIRTHEERLE
RV - A HACHNENT - BN —RBIAEEHE T MRS AERESNITIER
ENLEE R -

RAAREEZHEEIERS T SRR EEN « BERITEREN « EimRR - i
ETVRIEN « IRERECEE « EEEEN  BHRRIIFE HIXA LNEREEBE TR
EE - ECNCEENE ~ ITIKARRIERE SR - TR  FERRIACTIHFF - - hTRE
BERRIAFEESEX  HAREHERERMN > AEFESITE—EBNECHER  AEF
BEESAHARAIRE

BB B SHAERZM - TERNENER  FAEEATENEN/RBRE - 7
REBRAARINR S RERMAEPIEAML o

AR5
AR - HFIREFEEE40EESR - BREBINIZREANNVEFERFIER
BB T ke - HFISEBIMERSERR - RIHEE P E AR ERIBRTS o

mE

ReRENBEERMRERNES  UALARSERAE « &TENRMRES £
ENSRERLEFEH 2 AEAFEE0EL EASERREF - RfIFZ2E8REENEERE
 REERREMER - WWEIEEIS09001 K1S014001AYER:E - MREEHMENAEHER
MK > BHARFIEIEERNBRE - "RESHRERELAEMNER, @ AERIEK
EERE—D -

i

RARIRFEBKEITEE « MBS - TERRZZEAT ~ SR - 1557
I ERIFRTHE(FEE « B © e RN - EBIRBUNSF N+ SERZK) - ElskegisTh
EIESR AT R SRS EIFT LR ©



s PEIEE T 2R BIRA A

Varitron Engineering (Taiwan) Co., Ltd.

SEFILHARERBE—R1718455%
No.45, Ln.171, Sec.1, Zhongxing Rd.,
Wugu Dist., New Taipei City, Taiwan
TEL:+886-2-2988-9598
FAX:+886-2-2985-0998
EMAIL:sales@c-var.com




